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#include<bits/stdc++.h>
using namespace std;
const double eps=1le-13;
struct point

double x,y;
point operator -(point &s

point) {X-s.X,y-S.y};

’

double operator *(point a,point b
a.x*b.y-a.y*b.x;
struct line

double d;
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point a,b;
1 :
bool cmpd(line a,line b

a.d<b.d;
bool bian(point Q,point P1,point P2

fabs((Q-P1)*(P2-P1)<eps&&min(P1l.x,P2.x)-eps<=Q.x&&Q. x-
eps<=max(Pl.x,P2.x)&&min(Pl.y,P2.y)-eps<=Q.y&&Q.y-eps<=max(Pl.y,P2.y));

point crosp(line a,line b

double sl=(b.a-a.a)*(a.b-a.a),s2=(a.b-a.a)*(b.b-a.a);
point b.a.x*s2+sl*b.b.x)/(sl+s2),(b.a.y*s2+sl1l*b.b.y)/(s1l+s2)};

int n,m,sta ;
int main

cin>>n;
int i=1;i<=n;i++

int mm;
cin>>mm;
int j=1;j<=mm;j++

m++,cin>>1[m].a.x>>1[m].a.y;

1l (j==1)?m+mm-1:m-1].b=lIm].a;

n=m;
int i=1;i<=n;i++
1/i].d=atan2(1[i].b.y-1[i].a.y,l[i].b.x-1[i].a.x);
sort (&l ,&UIn+1],cmpd) ;
int i=1;i<=n;i++

;sta >=1;sta - -
fabs(1/i].d-1[stalsta .d)<eps

1l[stalsta .b-1/stalsta a)¥(l[i].a-
listalsta .a)<eps ;

;sta >=7;sta - -

Liil.b-1/i].a)*(crosp(listalsta ,Listalsta - -
1[i].a)>eps ;
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fabs(l/i].d-1/stalsta .d)>=eps) stal++sta

Il
-

int L=1,R=sta ;
L<R

listalLl].b-1[stalL!!.a)*(crosp(listalR]|],l[stalR- -
listalL]].a)<eps) R--;

lista/R]].b-1/sta/R]].a)*(crosp(listalL!]|,l[stalL+ -
lista/R]]|.a)<eps) L++;

R-L<=

printf("0.000\n");

’

double ans=0;
stal/R+1|/=stalL]|,stalR+2|=sta|L+
int i=L;i<=R;i++
ans+=crosp(listalil|,l|stali+ *crosp(l/stali+ ,Listali+ /
printf("%.31f\n",ans);

’

.
’
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